= o
A & 0l & AF 2 E A A
20209 &= =0la detZ SEINLSESH &
2M: 83
g FH=2CMS
Sl BAINEAL HE(NUE +FHLSEA) CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
& 8,296,643 4,998,995 3,297,648
= 3,420,000
J| 3,728,699
s 1,147,944
FE =2 AY 7,168,606 3,940,030 3,228,576
= 3,420,000
J| 2,600,662
[ia 1,147,944
BAJIZANLE E5(2oz +FHNLSEIA) 4,807,000 1,996,000 2,811,000
= 3,420,000
J| 1,007,000
[ia 380,000
g2h ¥ S22l =gits XA 70,000 70,000 0
402 RIZ2HXt20l ™ 70,000 70,000 0
01 212t 2 AL E = (REM ) 70,000 70,000 0
O2aYISELMlAE FHOE X3 A (
gols, Jjaots) 35,000,000 *2J4 2 70,000
NEZaSSHANE (HAXAHUXISHAIE QI2EE X} 4,117,000 1,926,000 2,191,000
=)
= 3,110,000
J| 1,007,000
403 UHXSHHSA=0l& 4,117,000 1,926,000 2,191,000
= 3,110,000
J| 1,007,000
02 S 2S0CHet A = H 2 & AL H 4,117,000 1,926,000 2,191,000
OOt H XAl XISHAIE & X (BTO)
4,117,000,000& =14 4,117,000
= 3,110,000
J| 1,007,000
HEQLE M2 AL 620,000 0 620,000
= 310,000
s 310,000
401 AIEHI L 20HEI 620,000 0 620,000
= 310,000
[ia 310,000
01 A& HI 616,094 0 616,094
OPZHE ABSX ZHTA
620,000,000% *99.37/100 616,094
= 308,047
s 308,047
03 Al 2 THHI 3,906 0 3,906
ORd UASEX 2E A
620,000, 000& *0.63/100 3,906
= 1,953
s 1,953
BEIZANE 2 (Motz ML EHSIA) 1,802,683 1,536,728 265,955




2M: 83
B FYLVE MY
tel: BHIZANE 2L (T =FINLEEFAH) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Jl 1,136,313
s 666,370
BHIIZANE2ZE N (B2: 2 IHE2aHM2AE)- 1,517,069 1,386,753 130,316
=2
J| 1,060,313
s 456,756
101 @14l 3,135 3,050 85
J| 2,427
s 708
04 DIt 22 HEE = 3,135 3,050 85
ON=ERadMelAld g2 § =&Y 2URY 3,135
—Jlegs 71,0503 x4 «10 2,842
J| 2,210
s 632
— n sl 2,000& x4H =10 80
J| 64
s 16
— =2lH| 4,000 *4H «10 160
J| 113
[ia 47
—gHARL3(1E, AM) 3,082,000& *1.7% 53
J| 40
s 13
201 £B-2dH| 524,751 556,920 A 32,169
J| 383,002
s 141,749
01 At 22l 55,800 55,920 A 120
OJN=E=dMelAE 23 ¥ =3 52,800
— ANE2Z 24| 2,000,000& x12& 24,000
J| 19,200
s 4,800
— =2y 28,800
2 A H| 60,0002 115 6,900
J| 5,472
s 1,428
- =AY 60,000& 365 21,900
J| 17,520
s 4,380
ONEZuHMUANE 22X HYS(FE0HFS)
-2 300,000& x5 x23| 3,000
J| 2,000
[ia 1,000
02 2324l 468,951 501,000 A 32,049
O2:YIIEEMIUAE HIAER
22,000,000& x12& 264,000
J| 174,887
s 89,113
O=2=xH™el JIHAKRKYI 200,000& x30&+12& 72,000




2M: 83
HE: HELBRIAY
Sl BAINZAL SY (MR 2FIHLSEEN) (sl &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Il 57,600
s 14,400
ONEE=HMelIAS XL
250,000& 405 +12& 120,000
| 96,000
= 24,000
OHIHEUH 5 1,079,200& =122 12,951
J| 10,323
[ia 2,628
202 oddl 9,600 9,600 0
| 7,680
[ia 1,920
01 =L o4 1l 9,600 9,600 0
OELUNESLHALLE (BH)
20,000 x6H 802! 9,600
| 7,680
s 1,920
206 M= Hl 253,583 194,583 59,000
| 171,604
[ia 81,979
01 MHZ 4l 253,583 194,583 59,000
cHEUINEEEXLE 2L 128,500
— ZStHolE 90,000,000 » 14! 90,000
| 63,000
[ia 27,000
—Jtaatt 350& *80,000kg 28,000
bl 15,400
i 12,600
—2&H 7,000& *1,500kg 10,500
| 8,404
s 2,096
Ox=Z=24 & HEZH 425 ¢ 3,283
— A EAY 50,0003 x20E *23| 2,000
| 1,600
s 400
— XA+ 128,300& x10& 1,283
| 960
s 323
ONEEoXMelAE HIUAIE W7 85,400
— O JtA O TH 4003 *14,000kg*4 3l 22,400
J| 14,040
s 8,360
—E4E MM 3,500& *4,500kg*4 3| 63,000
| 44,200
[ 18,800
O2=XelAE HUAIE A2 36,400
— O JtAF O TH 4003 *7,000kg*4 3| 11,200
| 6,720




2M: 83
g FH=2CMS
tel: BHIZANE 2L (T =FINLEEFAH) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 4,480
—EHE MM 3,500& *1,800kg*43| 25,200
J| 17,280
s 7,920
307 21201 A 486,000 405,600 80,400
J| 327,600
[ 158,400
05 RIZt2IEt = 486,000 405,600 80,400
OsdX|E HMeldl 150,000& x270E+12& 486,000
J| 327,600
s 158,400
401 Al HI K 201 I 240,000 207,000 33,000
J| 168,000
s 72,000
01 A& HI 240,000 207,000 33,000
ONEEaXMelAE WASHEH FLEX
40,000,000& =14 40,000
J| 28,000
s 12,000
OJMN=EEaXelANd HERZH L
60,000,000& =14 60,000
J| 42,000
s 18,000
ONE2LHRAANL HASAT Cop2 7
I=DN 140,000, 000& * 14 140,000
J| 98,000
s 42,000
BAJZANE2Y KNI (AL AZ5X) 12,551 12,000 551
J| 10,000
s 2,551
101 @14 Hl 9,551 9,012 539
J| 8,551
s 1,000
04 JIZHHZ2XNHEE S 9,551 9,012 539
OZB&X H=E=xY 2 9,551
—Jl=s 71,0503 »4H 25 7,105
J| 6,105
s 1,000
-5 71,0503 x4 x4 1,137
J| 1,137
- PAESR=Y 77,0503 x4H 1 309
J| 309
— WSl 2,000 »4H »252 200
J| 200
— = Al 4,000 x4 25 400
J| 400
—HERES 100,000 »4H x 13| 400




2M: 83
B FYLVE MY
Sl BEIEAL SY(WAR SEWLSEN) CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Jl 400
401 A& HIZ 201 I 3,000 2,988 12
J| 1,449
s 1,551
01 A& HI 3,000 2,988 12
OUB&EX A (SXF=HEH)
3,000,000& =14 3,000
J| 1,449
s 1,551
BHIZANE2Z KN (NAMEHSTH) 123,439 99,951 23,488
J| 26,000
s 97,439
101 @14 dl 94,079 74,251 19,828
J| 26,000
s 68,079
04 JIZHHZ2XNEE S 94,079 74,251 19,828
OXNHMEHSX R HMEXHY UFY 94,079
—Jl=s 71,0503 10 100! 71,050
J| 26,000
s 45,050
- =54 71,0503 x 10«14 9,947
—di=g 77,0503 x10H x4 3,082
— WSl 2,000 =10 =100 2,000
= Al 4,0003 10 100 4,000
—HERES 100,000 »10H »43| 4,000
201 ¢et24] 12,160 9,700 2,460
01 At 22l 3,760 3,000 760
OXNHMEHSX & 22| 225 +
1,760,000& 14 1,760
OXNHMESXE KFAHASHA HH X2
500, 0003 *2CH 2 2,000
02 =224l 8,400 6,700 1,700
OXNHAMEHS AR M=(0=2,&CI2I) =Y
=&l 1,500 204 *50+20 3,000
OXNHMEIS X ALEH FX 2
3,000,000& =14 3,000
OXNAMEISXE #IRB 200,000& 128 2,400
202 044l 3,000 3,000 0
01 = LH o4 1l 3,000 3,000 0
ONHMEISXE RA2el dXN&E=FE
20,000 x1H » 150 3,000
206 24 3,000 3,000 0
01 MHZ 4l 3,000 3,000 0
ONHMEIsA&E 228 RIIBHE, 28
s 7g 3,000,000& =14 3,000




2N
X ZH -
L= B

el

&2
HHYLBRIANY
B#FIZNE 29 (T

=
rx

Jm

=]
=

ton
=

SA - ZE-B(EN) - NRAY - B S il 2
401 Al& Bl & 28I 10,000 10,000 0
01 A& HI 10,000 10,000 0
OXOIMEIETE HUZAH(HA 24 £)
10,000, 000& 14 10,000
405 XHoHF S HI 1,200 0 1,200
01 AL =ZH=H 1,200 0 1,200
ORIMEEXY SN Hol(HEI], o
g 8) #¢ 1,200, 000& =14 1,200
BZIZANE2E N =5X) 25,101 23,024 2,077
J| 20,000
i 5,101
101 @124l 19,101 18,024 1,077
J| 17,500
[ia 1,601
04 JIZHHZ2XNESE S 19,101 18,024 1,077
OelBsX M== 19,101
—Jl=s 71,0503 »4H 50 14,210
J| 12,609
[ia 1,601
- =54 71,0502 »4H +8 2,274
J| 2,274
— 3= 77,050 x4 »22 617
J| 617
— n Sl 2,000& »4H +50 400
J| 400
— =AM 4,000 x4 x50 800
J| 800
—gH3F2E3 100,000 »4H »23| 800
J| 800
206 M= Hl 3,000 2,000 1,000
J| 1,000
fia 2,000
01 =8l 3,000 2,000 1,000
SIIE=E =T HE, 2d4 £ 2
2 3,000,000& =14 3,000
J| 1,000
i 2,000
401 Al HI & 28I 3,000 3,000 0
J| 1,500
s 1,500
01 A& HI 3,000 3,000 0
Oes&X X (&KX =HZFHl)
3,000,000& =14 3,000
J| 1,500
s 1,500




2M: 33
M FESDULAMY
Sl BAINZAL SY (MR 2FIHLSEEN) CEEEED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
I EANE2Y XL (2 =S Xl) 107,523 0 107,523
J| 20,000
= 87,523
101 Q124 H| 94,079 0 94,079
Jl 20,000
= 74,079
04 JI2ZtHIZ22NEES 94,079 0 94,079
OZESEAXN M=&Y el 94,079
—J22 71,0503 102 %100 71,050
J| 20,000
= 51,050
— =554 71,0502 «10Y 14 9,947
—ExE 77,0503 x 10 x4 3,082
— WEt| 2,0002 10 100 2,000
— g4l 4,000 10 100 4,000
—HAERYZ 100, 000 * 10 x4 3| 4,000
201 LBt ]| 13,444 0 13,444
01 AP 22| H| 3,700 0 3,700
O&X =Z2LHEE HAMAZ =22
50,000& *23] 100
OsX sz =2 = S
300,000& x12& 3,600
02 2=2=24%H| 9,744 0 9,744
osX&clg 8s3 |22 310,000 x12& 3,720
Osk&eE 8HA 127,000& »12& 1,524
OZBEX |A2L HJl 2 X eldl
1,500,000 33| 4,500
= &2 22442 17,000 15,000 2,000
402 BI2H X =20l M 17,000 15,000 2,000
03 QI 2t B A HI 17,000 15,000 2,000
OJl=8% Mol HEIH ueE2(EZAY)
170,000,000 *10/100 17,000
AN o (HYD +HWLSH5H) 287,193 275,572 11,621
J| 213,719
= 73,474
A HA(2Hs £HIRA)-3 X 240,105 233,481 6,624
J| 182,600
= 57,505
101 e1214| 161,805 143,147 18,658
J| 104,300
= 57,505
03 2INHAZ2ZXNHE %= 126,930 114,682 12,248
O3S =2 2LANA & 21B) 126,930
—1252(19) 39,982




2N
X ZH -
L= B

el

[ ]
4 0% 0¥
o 4> &

o
o
H >
12 19
]

el (&l etz

B!

rx
Jm
e
fon

A

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
l2s 2,417,960 x1H x 123 29,016
FAHZ A 130,000& 1H 128 1,560

| 1,560
IESE 40,0003 x 18 128 480
| 480
At 97,529 x1H 10! 976
| 976

AZtel 282
18,2863 x15A1 2tx1H «12& 3,292
| 3,292
S22 97,529& 1 . 5x1H x 12 1,756
| 1,756
- HE SOt 2,417 9603 +60%* 1H »23] 2,902
| 2,902
—952(19) 38,716
23 2,351,960 x1H x12& 28,224
J| 7,807
= 20,417
FAHZ A 130,000 x1H x12& 1,560
| 1,560
s 20,000 x1H x12& 240
J| 240
HAxt=+g 95,003 x1H 10 951
| 951

AZtel 2e+%
17,813& «15A1 2hx1H 128 3,207
| 3,207
sFe2fe 95,003 *1.5«1H x12& 1,711
J| 1,711
" E SOt 2,351,960& *60%* 1 23| 2,823
| 2,823
—758(19) 38,332
2a 2,311,960 x1Hx12& 27,744
| 27,744
ZFAHZ A 130,000 x1H x12& 1,560
| 1,560
HEs=g 40,0003 18 «128 480
| 480
At 93,4723 x 18 10 935
| 935

AZtel 28+
17,526 & x15A1 2hx1H « 128 3,155
| 3,155
FLe2Rg 93,4723 1 5x1H x 12 1,683
| 1,683
" E F Ot 2,311,960 x60%* 1 »23| 2,775
| 2,775




2AM: 283
X

M. HE LAY
Sl AL XY 2 (ot 2EINLEESH) (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
—HERH= 250,000 x3 x12& 9,000
J| 9,000
—HZANIA=EESI=FL
300,000 *3H 13| 900
Dl 900
04 JIZtH2Z2XNEE S 34,875 28,465 6,410
O8Ys ZZANIAES 34,875
—-J|23 71,0503 * 1Y %246 17,479
Dl 17,407
= 72
—R3FEY 71,0650& 1«52 3,695
Dl 3,695
PN 77,050 12«12 925
J| 925
— WEH| 2,000 x 1 x246 492
Dl 492
— HHZAH| 4,000 x 1 »246 984
Dl 984
— 9 ZE Il 300,000& x1H x23| 600
Dl 600
—HERH= 200,000 x1H x12& 2,400
Dl 2,400
— &= 8,000,000& x1H 8,000
—AIUNREEBI=TY
300,000& x1H *13] 300
Jl 300
201 Bt A H| 16,300 15,334 966
J| 16,300
01 AtR 22l bl 3,840 3,840 0
OsYs =g S5 S|
8,000& »8H 60! 3,840
J| 3,840
02 352494l 12,460 11,494 966
Ox=Z&2ZA XS A2l 12,460
—XAsSIAH 2 BEE= 1,000, 000& * 14! 1,000
Dl 1,000
-S04 700,000& x1CHx12& 8,400
Jl 8,400
—BINHREE S 30,000& *1CH*23] 60
J| 60
— S X2l 250,000 128 3,000
Dl 3,000
206 X & bl 37,000 50,000 A 13,000
Dl 37,000
01 &bl 37,000 50,000 A 13,000




2M: 83
B gyLBeANY
CHol ASEBAXY BR(HYE SRIHLSEEH) CERED
SA - BB B () - MM - BES Ol &t o San HmEET
O8Ys XY SZHEN
37,000,000& =14 37,000
J| 37,000
307 gl2tol & 25,000 25,000 0
J| 25,000
05 RIZHRIE 3 25,000 25,000 0
Os4 S843I 28l
25,000,000& =14 25,000
J| 25,000
FOX2AY Ot & BRI (SZ) 47,088 42,091 4,997
J| 31,119
s 15,969
101 @14 Hl 39,188 34,191 4,997
J| 23,219
s 15,969
03 RIAHAZZ T E =+ 39,188 34,191 4,997
O+¥TA FUX VALY BRAAAEY B2 0l
23 39,188
—JlE224ss 18) 2,126,960@ *1¥ «12€ 25,524
| 9,555
[ia 15,969
—JtE=E 220,000& 18 «128 2,640
J| 2,640
—RYZ2RE 86,806 x1.5x1H x1 131
J| 131
—Qx=g 86,3903 x 110 864
J| 864
—AZtel 2R+
16, 1983 x15A| 2Hx 1 x 128 2,916
J| 2,916
— ZE S| 2,126,960& x60%* 1H »23| 2,553
J| 2,553
— ZAg A 130,000& 1H 128 1,560
J| 1,560
—HERES 250,000& x 18 %123 3,000
J| 3,000
202 O4dl 7,900 7,900 0
J| 7,900
01 = LH o4 1l 7,900 7,900 0
OFUNAANEY =X AE) HA(EA)
20,0003 x2H %197 .5« 7,900
J| 7,900
AZTUAY (ROHE SEHLASESIH) 271,730 131,730 140,000
J| 243,630
s 28,100
QAEBB/IANA (2 ) 150,600 75,600 75,000




SN

XM ZH: A
L= B

o o
ool 2YEY

SA - BB B () - MM - BES Ol &t o San HmEET
Jl 122,500
s 28,100
207 A RO & H| 150,600 75,600 75,000
J| 122,500
s 28,100
01 289 150,600 75,600 75,000
0208 +EESHH WEAZAL 2UH
d(22) 20,600,000 =14 20,600
J| 18,500
e 2,100
O'19d ZFFTH el 0lHBINSY)
55,000,000 =14l 55,000
J| 49,000
e 6,000
OM4EH ANEHE =& (3L)
75,000,000 » 14! 75,000
J| 55,000
i 20,000
SAATS A (LA L) 121,130 56,130 65,000
J| 121,130
207 A& H| 121,130 56,130 65,000
J| 121,130
01 289 121,130 56,130 65,000
O'20d =22l HEaZ2 A4 BUH
(8L 11,130, 000& 14 11,130
J| 11,130
O'"19¢ s OB (LEY)
45,000,000& =14 45,000
J| 45,000
OM4EHH ANHE =B (82L)
65,000,000 =14 65,000
J| 65,000
F=HAA FUXE ALY 1,128,037 1,058,965 69,072
J| 1,128,037
2eEYE FUXNZAS (X2 SHIHLASESAH) 1,128,037 1,058,965 69,072
J| 1,128,037
ZElHEFOUNR (2B A FONRAY) 1,128,087 1,058,965 69,072
J| 1,128,037
101 1A bl 14,000 14,865 A 865
J| 14,000
04 JIZHHZ2Z2XNSE+ 14,000 14,865 A 865
O8Y SIN2tdH el ARY 14,000
—Jl=s 51,5403 x 12 1852 9,535
J| 9,535
- =54 51,5403 » 18«37 1,907
J| 1,907
— s, =S4l 6,000 x1H x1852) 1,110




2M: 83
M Lupo FUNAAY
Sl PRlHE FUNAANY(HAR LBHLSSE N CEEEED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Il 1,110
—HERE3 181,000 »1H 83 1,448
| 1,448
401 A& BIZ 201 8] 6,770 4,000 2,770
| 6,770
01 A& HI 6,770 4,000 2,770
O=gH sti+=2 SAl 6,770,000& *1 6,770
| 6,770
402 2I2H X201 M 1,105,282 1,030,246 75,036
J| 1,105,282
02 QI E2AIE EZ (OIS ) 1,105,282 1,030,246 75,036
Ox#HIZA=UX A ALY 1,105,282
—AETAAL (BHES 70IHAID)
654,068,000 *1 654,068
| 654,068
—HEXFAS (BHSHE 624%)
451,214,000& *1 451,214
| 451,214
405 XH&kE S| 1,985 0 1,985
| 1,985
01 AL EZFH S 1,985 0 1,985
O o8 42X 2% 2E7Y
1,985, 000& *1 1,985
| 1,985




>
N & 0 & == I A
20209 &= =0la detZ SEINLSESH &
FN: 2SS M
g FH=2CMS
Sl BAINZAL HE(RNARLTHLSHEN) (WA = 512) CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
HE2AE L 30,530,492 37,959,601 AT,429,109
= 14,267,000
J| 3,574,473
s 12,689,019
FE =2 AY 22,832,682 35,041,818 A 12,209,136
= 9,338,000
J| 3,574,473
[ia 9,920,209
BEIIZANE (2N ASEIAH)(HetE = 17,939,298 29,874,602 A 11,935,304
ANLEL3IAH)
= 9,338,000
J| 2,464,000
e 6,137,298
ot=2t)1 BTL & Xtz XI& 2,518,650 2,747,550 A 228,900
= 1,441,000
| 553,000
i 524,650
201 Lt 4,650 4,550 100
01 At 2t 2l 4,650 4,550 100
O2g+2(8EIA Bt
186,000& »5H *53] 4,650
402 BI2EX=0| M 2,514,000 2,743,000 A 229,000
= 1,441,000
| 553,000
s 520,000
03 212t & AL S HI 2,514,000 2,743,000 A 229,000
Odt+=2HHUIBTLAIE LXtE XS
2,080,000, 000& 14! 2,080,000
= 1,441,000
| 553,000
e 86,000
Odt=2tHZHIBTLAIY 22 Hl X2
108,500,000& 42 | 434,000
ot=2t2 Hi==&Hl ZX A 570,000 410,000 160,000
401 Al HIZ 201 I 570,000 410,000 160,000
01 A& HI 570,000 410,000 160,000
OS8d o222 (+£H) FHlAg (2,
s, ael, el) 3,000,000 *60H 2~ 180,000
OEg=2d ot=Z2(==&Hl) FHIAY (KA,
2 B4, of O ey ol )3,000, 0003 604 2 180,000
OTOHATHX Gt=2t2 (HH==&Hl) ZHIAIS (A
Bra AR 21D], 02, A=) 210,000
3,000,000 *700H 2
ot=2t2 ZHl - XtA 2,767,040 2,572,480 194,560
401 A& HIZ 201 Y| 2,767,040 2,572,480 194,560
01 A& HI 2,767,040 2,572,480 194,560




FN: 2SS M
HE: HFLRANY
Sl BAINZAL FS(RARLTHLSLE N ) (RYR 2THLASEH) CEEEED
. SfE|
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O3 ot=22 AL & HHIAY
400, 000& *750m 300,000
O335t=HMelAME =F5t=22 JHAS
120,000, 000& 14 120,000
Odleh AEHOtE SAHABEY FHHIAMLY
20,000,000& =14 20,000
OfH AHAEOS ot=22 FHHAY
300,000& =1,000m 300,000
ORA 240t SABSE FHIAML
20,000,000& =14 20,000
ORF otAANS SHEZZ FHAY
20,000,000& =14 20,000
Ocdst=HMeld NS L=3AM
20,000,000& =14 20,000
O¢td WHOS ot+22 FHIAY
30,000,000& =14 30,000
OBt otxeld JIAHA FEISAH (Y, A
) 20,000,000& =14 20,000
Ofsgelt ot=HMeld JIHA HEISAH(EES
2 us) 20,000,000 =14 20,000
OJ|80l21 St=HMel& JIAHA ZHHISAH(I]H
oL,1%) 20,000,000& =14 20,000
O&= BX0tS ot+22 FUAY
300,000& *1,500m 450,000
Oot=HMeld JsddEA(SE 4EEF)
10,560,000& «2H 2~ 21,120
Oot=HMeld JsdedgEaA (2, =)
10,560,000& «2H 2~ 21,120
Odt=HMel® JlsdadEd(Ax, A1)
10,560,000& «2H 2~ 21,120
Odt=HMeld JIsdadgd (8ot 843)
10,560,000& «2H 2~ 21,120
Oot=HMel& Jlsddgd(2d)
10,560,000& *«1JH £ 10,560
Odt=22 S &el S USSFHSA
110,000& *2,000m 220,000
OZ33ot=HelH ot=22 228 & FELEA
e 3,000,000 *400H 2~ 120,000
OAL7AL0t=XMelE o222 252 E &4
A 3,000,000 *500H 2~ 150,000
Odt=22 S L XS A
3,000,000 *60H 2~ 180,000
OL25t4aB2 S 282 A2 243N
5,000,000 *400H 2~ 200,000
OUE Y ot2=Z CCTVEAL S FHISA
150,000, 000& * 14 150,000
O A0S ot+22 FHIAY
400, 000& *420m 168,000




SN SeSAYA
g FH=2CMS
ol BFIIEAL FE(MABLENLSEEH)(H2 2HASH8IH) CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
O¢t® XIAIOtS ot2t2 HUIAY
400, 000& *360m 144,000
SOHE OISot+=S UMY (ASTAIEH) 7,017,000 3,681,429 3,335,571
= 4,912,000
J| 322,000
s 1,783,000
401 A& HIZ 201 I 7,017,000 3,681,429 3,335,571
= 4,912,000
J| 322,000
s 1,783,000
01 A& HI 6,364,390 3,520,919 2,843,471
ASAAMEE sHEDNSSH=T XS A
6,364,390,000& 14 6,364,390
= 4,912,000
J| 322,000
s 1,130,390
02 Zteltl 635,067 147,257 487,810
ASAAMEE sHENSSH=T XS A
635,067,000 » 14! 635,067
03 AlE 2 THHI 17,543 13,253 4,290
ASANAMEE sHENSSH=T XS A
17,543,000& 14 17,543
S22 FHIMG(AERAES) 553,465 3,001,429 A2,447,964
J| 550,000
s 3,465
401 A& HI R 201 I 553,465 3,001,429 A2,447,964
J| 550,000
s 3,465
01 A& HI 550,000 2,861,563 A2,311,563
OUFENES ot=2Z HEISA
550,000,000 =14l 550,000
J| 550,000
03 AlE 2 THHI 3,465 4,802 A1,337
OUAFEINES ot=2Z HUISA
3,465,000 » 14! 3,465
SHEMSEI=E FHAMSE(SAH) 817,000 1,722,857 A 905,857
= 572,000
Jl| 174,000
[ia 71,000
401 Al HI K 201 I 817,000 1,722,857 A 905,857
= 572,000
J| 174,000
s 71,000
01 A& HI 716,678 1,630,512 A 913,834
O=2H sHENS ot &I SAM
716,678,000 716,678
= 572,000




2L HS2AMEL
M FESDULAMY
Sl BEIEAL HB(DABLFHLSHIN)(FAZ +BHLSH3H) (S &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Pl 78,825
= 65,853
02 22|l 95,175 86, 143 9,032
O=2H sHEDIS Sl &8 X Z2A
95,175,000 95,175
J| 95,175
03 AlE 21| 5,147 6,202 A 1,055
O=2H sHEDIS Sl &8 X Z2AH
5,147,000 5,147
SHE0I204ES ZHIAISE (YY) 1,097,000 2,438,571 N 1,341,571
= 768,000
J| 213,000
= 116,000
401 Al HIZL 2 0HY| 1,097,000 2,438,571 AN 1,341,571
= 768,000
J| 213,000
= 116,000
01 Al&H| 981,000 2,307,865 N 1,326,865
ORY sHE0ISolx=% X2 A
981,000,000& 981,000
= 768,000
J| 213,000
02 22l 113,087 121,928 N 8,841
ORY sHE0ISolx=% X Z2A
113,087,000 113,087
03 AlE 201 Y| 2,913 8,778 N5,865
ORY sHE0ISolx=% X Z2A
2,913,000& 2,913
o422 JHIAIL (SSE=2X) 2,163,143 2,195,714 N32,571
= 1,364,000
J| 652,000
= 147,143
401 AlEHI 2L 2 0HY| 2,163,143 2,195,714 N32,571
= 1,364,000
J| 652,000
= 147,143
01 Al&H| 2,136,127 2,082,416 53,711
Os&2X olx=22 HHIZA
2,136,127 ,000& 2,136,127
= 1,364,000
J| 652,000
= 120,127
02 2eldl 20,000 109,785 89,785
Oss2AX o2 HHl SA 20,000,000 20,000
03 Al 201 Y| 7,016 3,513 3,503
Os82AX otx=2=2 HH|lZSAH 7,016,000 7,016




FN: 2SS M
HE: HFLRANY
Sl BEIEAL HB(DABLFHLSHIN)(FAZ +BHLSH3H) (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Jotz = 2ot+=22 YA 122,000 0 122,000
= 61,000
s 61,000
401 Al HI K 201 I 122,000 0 122,000
= 61,000
s 61,000
01 A& Bl 122,000 0 122,000
O 55422 BUXA
122,000, 0003 14 122,000
= 61,000
s 61,000
SHEMSEI=E JHAMSE(RE) 314,000 0 314,000
= 220,000
s 94,000
401 AIEHIZL 20HEI 314,000 0 314,000
= 220,000
[ia 94,000
01 A& Hl 311,739 0 311,739
OFE sHE0tSot=x EX3AM
311,739,000& » 14! 311,739
= 220,000
[ia 91,739
03 Al 2 THHI 2,261 0 2,261
OFE sHE0tSot== EX3AM
2,261,000 » 14 2,261
BEIIZANE 2 (Rtz SHEINEELES ) (R 4,893,384 5,167,216 N 273,832
SENLSESE)
J| 1,110,473
e 3,782,911
BAJZANERY KA (2) 3,461,676 3,828,200 A 366,524
J| 1,100,473
s 2,361,203
201 L4l 680,200 548,200 132,000
J| 12,000
i 668,200
02 =224l 680,200 548,200 132,000
O&etZZot=XHel Al 10,500,000& =128 126,000
Osg33ot=xelAld 1,600,000& »12& 19,200
J| 12,000
i 7,200
OARZatHMelA (A S 280 &)
31,000,000& x12& 372,000
Oot=HMelANESE2E dsalddl(HA2 28
M) 5,500,000& x12& 66,000
Oot=HMelAld SHEZHE 8 202 fXE=(5
500 &) 1,200,000 *55H A 66,000




2L HS2AMEL
M FESDULAMY
ol BEIIEAL SY (M2 SENLASESN) (AU +ENLASEIH) CEEEED
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OQdlt=HelAlE AIIEEZ S 218 SXE (31
HA) 1,000,000 *31JH 2~ 31,000
307 2iz2to| & 2,331,476 2,260,000 71,476
J| 858,473
= 1,473,003
05 QIZ2tRE 2 2,331,476 2,260,000 71,476
OZ2Z206t4+HMelAE 2SHAEALI (2 L) 2,331,476
—ZEsAHANLE 29 A (2 L-F
) 987,523,000 « 1Al 987,523
J| 571,661
= 415,862
~2BELHAANL 2 ASAH (2 L-8Y
) 143,356,000 x 14! 143,356
J| 142,097
= 1,259
~2BEALHAANL 2 ASAH (S L-2 7
D 280 A) 1,200,597,000& =14l 1,200,597
J| 144,715
= 1,055,882
402 SI2F 20| & 450,000 500,000 A 50,000
J| 230,000
= 220,000
03 U2t/ EFAFE HI 450,000 500,000 A 50,000
OZ220t=HelAlE AMEMNA(Wx=&H-22) 450,000
— ZZ0lEHEIAE AEINS tHaAB(22-
&Iok) 87,000,000 = 14! 87,000
J| 40,000
= 47,000
— ZZ0lEHEIAE AEINS A B(22-
=3=3 46,000,000 =14l 46,000
J| 30,000
= 16,000
— 220tE=HelAlE AMEMNSE A (S2-
AR 28HA) 317,000,000 = 1Al 317,000
J| 160,000
= 157,000
oteEHdelAlE 29 - XAl 1,417,934 1,325,914 92,020
101 e1214| 4,161 4,054 107
04 JI2ZtHIZ22NEES 4,161 4,054 107
O23otxXMeld =Z22A o082 4,161
- J22 71,0503 x1H 6L x93 3,837
— g Ald] 4,000 *1H x6 Y *93| 216
— WSt 22,0002 1«6 x93| 108
201 et 349,800 389,460 A 39,660
01 AR 22l ] 140,400 111,860 28,540




2L HS2AMEL
M FESDULAMY
Sl BAINZAL SY(MAR 2EWLASHEN) (M2 +EHLSBEH) (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O22dtsHl& 2el =]
8,000 x5H x5 x12& 7,200
OZBo+H2AT 2BAMN 242
45,000 x450 A~ %123 24,300
OZ220tx=HXMcl& ot &t A H|
100,000& *5JH A~ 500
OZ220t=Xelzd 2ty AT IH(YLUH)
=1 83,000,000 = 14! 83,000
OBt +H2ABYHET ALY
120,000& x9H x5 3| 5,400
O230txHMelAd AIE2 A=A Y S5
2AHA(£22) 20,000,000 = 14! 20,000
02 E2=2=24%H| 209,400 277,600 A 68,200
Ost=24ast4=gald (ol %)
1,600,000 13| 1,600
Odta=XelAld EIIANEBS(EXL-A72 1604
A) 12,000,000 x12& 144,000
OdtE=XHelAE Sl 238 (ARE-
T2 A6IHA) 1,400,000 x12& 16,800
OdtE=XMelAlE 2222 (YL2UHE, 5 A)
3,000,000 50 & 15,000
Oodtx=Hel & JIHEH SK22IH (6HA)
2,000,000 *6H 2 12,000
Odle=XHelAld SHEZHE S 238 X222
20,000,000 = 14! 20,000
202 o4 | 8,000 6,400 1,600
01 2Ll 8,000 6,400 1,600
S20t K2l 22 AHEA
20,000& x5 »80 8,000
307 2Iz2t0| & 848,973 726,000 122,973
05 QIZ2tR EF 2 848,973 726,000 122,973
OARDEIE=HEIAE 29 DI EAY (AT
2 AF2160HA) 848,973,000& » 1Al 848,973
401 Al HI L 2 0HHI 50,000 0 50,000
01 Al&H| 50,000 0 50,000
OXorE2Zole=Mald =&TMS SHI|J| A2
24 50,000,000& = 14! 50,000
402 SI2vXHE0| ™ 150,000 200,000 A 50,000
03 DI 2t EF A HI 150,000 200,000 A 50,000
OZ2Z205tHelAlAE AIEIHA & (o 82—
ARF2160A) 150,000, 000& x 14! 150,000
405 XH&HF S HI 7,000 0 7,000
01 XAt E B F S| 7,000 0 7,000
Odt4=Hel&d 88 S 222 F0(AHM014)
2l 3,500,000 «2LH 7,000




SSAMg A
da2el A
FIZAE 2Y (DA +THLHSHEN ) (RNAR +EHLESEN) (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SE5X(St=Held) |2 13,774 13,102 672
J| 10,000
s 3,774
101 @14 Hl 2,774 1,802 972
J| 2,000
s 774
04 JIZHHZ2XRHEE S 2,774 1,802 972
OZ&XN FxHAH &2 2,774
—-Jl=s 71,0503 +4H 3 x32 2,558
J| 2,000
s 558
— =AM 4,000 +4H x32 x33] 144
— Sl 2,000 +4H +32 «33] 72
201 Let24d| 11,000 8,000 3,000
J| 8,000
[ia 3,000
02 =24l 11,000 8,000 3,000
OUZEXN RANZ(SHXNMA, JIIZE B
2L MRS S) 11,000, 000& 14 11,000
J| 8,000
s 3,000
ZelAmg(8a ) 7,088,810 2,882,713 4,206,097
= 4,929,000
[ia 2,159,810
JIZNE &5 (xotz =E N Al 7,041,000 2,847,143 4,193,857
= 4,929,000
s 2,112,000
HE OlSot=% HUIAIS(0HE) 2,293,000 2,847,143 A 554,143
= 1,605,000
[ia 688,000
401 AIEHI L 2 CHYI 2,293,000 2,847,143 A 554,143
= 1,605,000
[ 688,000
01 A& HI 2,185,584 2,714,467 A 528,883
ontd sHELSot=&
,185,584,000& 2,185,584
= 1,605,000
[ia 580,584
02 Zeltl 99, 161 128,121 A 28,960
ontg sHELSo=& 3
99,161,000& 99, 161
03 Al S THHI 8,255 4,555 3,700
ootg s E0tssts&
8,255,000 8,255
HEOtsSol+E FHIMS(8sSHo 4,434,000 0 4,434,000
= 3,104,000




2A: H22AE A
HF: HYSAAMG(HTY)
Sl BAINEAL HE(NUE +FHLSEA) CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
o 1,330,000
401 Al& I 28I 4,434,000 0 4,434,000
= 3,104,000
s 1,330,000
01 A& HI 4,137,346 0 4,137,346
Ogs8xe2 sHE0ISotsT X SA
4,137,346,000& » 14! 4,137,346
= 3,104,000
e 1,033,346
02 Zeltl 284,682 0 284,682
O8Sxe2 sHE0IEoteE X3 A
284,682,000 » 14! 284,682
03 Al S THHI 11,972 0 11,972
O8sS&e2 sHE0IE8oteT X3 A
11,972,000& 14 11,972
Sh=22 MUAY (a1E) 314,000 0 314,000
= 220,000
i 94,000
401 Al&HI 2 28I 314,000 0 314,000
= 220,000
s 94,000
01 A& HI 314,000 0 314,000
OXlY sHENtSdt=% EXSAM
311,739,000 » 14! 311,739
= 220,000
s 91,739
OXld sHE0tSdt=% EXSAM
2,261,000 » 14 2,261
BAIIZANE 2L (et ML SEFH) 47,810 35,570 12,240
2 ¥ 2+XZal 47,810 35,570 12,240
201 £B-2%H| 12,960 4,770 8,190
01 At 22l 1,800 600 1,200
OMelgt=HelAld =Z2HIA =2
20,0003 904 A 1,800
02 3323l 11,160 4,170 6,990
OF3sx Z2d RAE=H 280,000& 128 3,360
O&3stx HREA CHHRE E5
400& *3,50000 2~ *23] 2,800
Oti=4&Hl 25t FAAME (2> RLLXN)
SEdHX M 5,000,000 » 14 5,000
402 RIZEX20| A 34,850 30,800 4,050
03 212t &AL S HI 34,850 30,800 4,050
Ofxxel LR nE2((dt+%)
8,500,000& *10/100 850
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